Computer Engineering Programming 2

Lecturer: JUNBEOM YOO
Jbyoo@konkuk.ac.kr
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X +y
X*x +Bb*x + 6
(principal * interest_rate * period) / 12.0
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H==(variable) =

Al (expression);

z=2*x+y, // = 2> x+yE At

x=10;  // &2 102 ¥4 x0l OB
y = x; // 2 x| 32 4 yofl THBHCH,
10 B2 Z0fl CHQIBHCE
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x+2=0 // 20| H4=0/S0| OtLID| MH20 &= =4l
2 = X; // 20| H=0/S0| OtLID| 20 &= =4l
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/* T AALX T2 )2l *x/
#include <stdio.h>

SAO HA S
ZZdt0l HE

int main(void)

( Ol RIQL U TF,
int x,y:
x =1
printf("==4! x+12| gt=2 %d\n", x+1);
printf("==4 y=x+12| &tE %d\n", y=x+1);
printf ("4l y=10+(x=2+7)2 at2 %d\n", y=10+(x=2+7));
printf("==4 y=x=32| 2 %d\n", y=x=3);
return O;
}
A x+19| g2 2
A y=x+19] g2 2
Z= Al y:]_O+(X:2+7)9| st 19
=4 y=x=32| g 3
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y=mx+Db

y =ax’ +bx+c
X+ Y+ X
3

(A1) HE RIF FAERIE?
Cole HS ®’IgES EHH
X * x2+ ol GtH&

ol HAS

XE Y= s e L KRILL
y=m*x+Db
y = a*x*x + b*x +c

=x+y+2/3
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// At= AHAXIE 0|2 Z=2 7]
#include <stdio.h>
int main(void)

0E

{
int a,b;
printf(" = I A AFXE="); @ T AT =2
scanf("%d", &a); SHH GTAAF=3
printf("S 2 S AFXE="); Y |2+325
scanf("%d", &b); 2-3=-1

2*3 =26

printf("%d + %d £ %d\n",a,b, asb); | 277 =0
printf("%d - %d 2 %d\n", a, b, a-b); vo =
printf("%d * %d £ %d\n", a, b, a*b);
printf("%d / %d 2 %d\n", a, b, a/b);
printf("%d %% %d 2 %d\n", a, b, a%b);

}
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// Lz A AAT T Z 1) 2N
#include <stdio.h>
int main(void)
{
printf("3/2 = %d \n", 3/2); [/ B/ =
printf("4/2 = %d \n", 4/2);
printf("5/2 = %d \n", 5/2);
printf("3.0/2.0 = %f \n", 3.0/2.0); /25 A8/ 25 A&E
printf("4.0/2.0 = %f \n", 4.0/2.0);
printf("5.0/2.0 = %f \n", 5.0/2.0);
printf("3.0/2 = %f \n", 3.0/2), // 2= 28/ 8=
return O;
}
32 =1
42 =2
52=2

3.0/2.0 = 1.500000
4.0/2.0 = 2.000000
5.0/2.0 = 2.500000
3.0/2 = 1.500000
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Lt X| &AHAFXF(modulus operator)= A BHR{| D AHAMAE = HRY
O AHALMKZ L+=RUES B8Re| LIHX[E ALt
— 10 % 2= 00|LC}.

— 5% 7= 50|L}.

— 30 % 9= 30|LC}.

LHD{R| QIAMKHE O| 83t B40t 42 1&
— X % 27} 00| T ®hA

LD X| HAEXpS O] &2t 59| Hj == H T
— X % 57} 00| &H 59| Hfj
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// LHH K| A AKX T2 7] 2N
#include <stdio.h>
#define SEC_PER_MINUTE 60 // 122 60=
int main(void)
{
int input, minute, second;
printf("= 22 AlZ2tS B EotAIR:(32H=0I0H)");
scanf("%d", &input); // =212 AlI2tE =L,
minute = input / SEC_PER_MINUTE; =
second = input % SEC_PER_MINUTE; /] E =
printf("%d== %dZ %d=2 LICt \n", input, minute, second);
return O;
}

TEHF O AIPHE &S OIAI 2329 = 0/0F) 70
/0= 12 10=8/L/LF
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H = OAFTL
T = =N
L A0 852 B
x = -10;
y=-x. // &H=yll g2 100] =L
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HSE riol AdAFTL
= H -llge 22N

EH 3k tHQl A ALRE ol o
X +=y X=X+Yy
x+=1 // x=x+1 X -2y X=X-y
x*=5 // x=x*5 x *= x=x*y
X-=y+1 // x=x-(y+1) x/=y x=x/y
X*zy+1 // x=x*(y+1) X %=y R B
x+=y/z //x=x+y/z X &=y = x4y
XTh=x+y [/ x=x%(x+Yy) X ley x=xly
x "= x=x"y
X =y X=Xy

X <=y X=Xy
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// 2 Y AAMX EZ )2
#include <stdio.h>

int main(void)

{
int x =10,y =10, z = 33;
X +=1; /] x=x+1,
y *=2; /ly=y*2;
z2%=x+y., //z=2%(x+y); =l
printf("x=%d y=%d z=7%d\n" x,y, z).
return O;

}

x=11 y=20 =z=2

18




<
e}

-

N

K|o

++X

i 2| xZXO|Cf.

X AR B0f, F7betc
o] 3t S7tEX| %L ¢

=3
=

A

=

Xak
O

X+ +

i 2| xZXO|Cf.

tut
'OL'I

A
e
LS —

(@)]
—




H

| /) Z2HARZ 0|28t T2 )

#include <stdio.h>

int main(void)

{
int x = 10;
printf("==41 x++ 2| 2t %d \n", x++);
printf("& M x2| Bt %d \n", x);
printf("==4 ++x 2| gt %d \n", ++x);
printf("& M x2| gt %d \n", x);
printf("==4! x-- 2| gt %d \n", x--);
printf("& M x2| Bt %d \n", x);
printf("==4 --x 2 g& %d \n", --x);
printf("& M x2| Bt %d \n", x);

}

Q

A& x++ 9 & 10
S xS & 11
F4& ++x O g2 12
S x| gt: 12
A& x-- S & 12
B x< & 11
F4 --x 9 & 10
&1 xS &t: 10
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double f;
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= 30.001 M& = L.
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#include <stdio.h>
int main(void)

{

char c;

int i;

float f;

¢ = 10000; // LHE B
i=123456 +10; // LH& HAEt

f =10+ 20; /] 2 HE

printf("c = %d, i = %d, f = %f \n", c, i, f):
return O;

CHCPROGRAMM convertitfconvertl.c(10) - warning C4305: '=

‘const int ' to ‘char '

CHCPROGRAM##convertitficonvertl.c(11) - warning C4244: '=" .

" truncation from

conversion from

const double ' to 'int |, possible loss of data

c =16 /=11, f= 30000000
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10;

char x

20;

shorty

X+y,

Z =

24



// B ALAICS KIS St T2 )
#include <stdio.h>

int main(void)

{
char x = 100;
char y = 100;
char z;
Z=X+Y:
printf("z = %d \n", 2);
printf("x +y = %d \n", x +y);
return O;
}
z = -56

x +y =200
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int& 0l
double® 2

Al Ol .M O] KL= O]
= VI = ATS= T
| 285t AL L= E%
int ——  double
10 +11.2345
\, double DL double
10.0/ )|+ n.2345
Il
double
11.234%

double® 0|
=
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« B 2Htype cast): AFEXLZ HIO|H 2| EtRS HES= A

—

(H2E) a4 T= wa

(double) (5)
f = (double)i + (double)j;

f = (double)((int)y + 3);
f = (float)(x = B); // =4l x =52 Z1gL2! 5t floatE 22 B &

5.0
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2
2

1. inti; o S

, 1. Hagwijdo
2. double f; 2. SS AAEH A A
3. f=5/4; 3. (H/HP)= B
4. f=(double)5 / 4; 4. 52 2ESALFOZ BEGIN HAH, Bis SESALES0| &
5. f=5/ (double)4: 5. 42 2SASTOR BEGI0 HA, MHE REALES0| =

' ’ 6. B5U4IEDE BPSALTOZ HEIGIH HL
6. f = (double)b / (double)4;
7. 1.3+1.823.12 HMED H4E B0 Y22 = 3

7. i=13+1.8; 8. (int)1.3+ (int)1.82 1+12 E N A i= 2
8. i=(int)1.3 + (int)1.8;
3. f=1
4. f= 125
5. f= 125
6. f= 125
7. i= 3
8. i= 2
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1L 9 ndl
AFS Y

— // 13F 27f 282 AHA

11=2 // 12t 27} CtE2EB 2 At

1 <=2 // 10| 2HC} 2o o 2 At

1< 2 // 10| 2HLC} 2o o2 At

(1+2) == (1*2) /] (1+2)7F (1*2)2F &X| ez AA
X>=y [/ x7tyECH AL ZoH &

| == 10 // 7k 101t 2o Dt &t

k > 3 // k7F 3ECF 3™ %t

m!=6 // mit 60| ZX| Qto™

int bool;

bool = (3 == 5); // bool0ll= 00| CH = Ch.
bool = (3 == 3); // boolOll= 10| T &I CF.

bool = (5 ==5) + (6 = 1); // boolll = 1+1=20} O & =l L},
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#include <stdio.h>

int main(void)

{
int x=10, y=20;
int rl, r2, r3, r4;

rl = (x ==vy);
r2 = (x = y);
r3 = (x>=y);
r4 = (x <= y);

printf("r1=%d \n", rl);
printf("r2=%d \n", r2);
printf("r3=%d \n", r3);
printf("r4=%d \n", r4);
return O;
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X y x AND y x ORy
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COlN 2 =2 Atk

X y x && 'y x|y

0 0 0 0

0 00| Ot:lgy 0 1

00| Ottlat O 0 1

00l Ot:lgt 00l Otdlgt 1 1
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L[
I QIARtO| &, A S 7+ o< 00| OfL| B A0 1 00| B %
O 2 TSI}
S4£ HRoE TEriCh
(0) NOT GIAIRIE HB8t= AL

10 // 00|H 1= Bt=ECF,

K} // 00| OtLI®H 02 2 BtEL,

1100 // 00| OtLI®H 02 2 BtEL,

-3 // 00| OtLI®H 022 BtEL,

Ix // B4 x2| g+0l 0013 1,00 OtLIH O

I(x + 1) // %A1 (x+1)2 2601 00/2 1, 00| OFLIE O

x>y && x<z) // 2H=4 x>y &&x<z2 gt0l 00/ 1,00] OtLIE O
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AND QAERE OR QAERE

184 2 // T AR @5 00| OILICE MA LAl &
(1=22) && (2==2) // 5HLIC| I I AFKIDH 20|22 AR 2412 HF
(1=22) || (2==2) // &tL} | T ARRIOF 20|02 &I 242 &
(x>10) && (x<20) // xJt 108 C 310 20 CH O 8 &0|Ch,
(x>10) || (x<20) // xjr 1ozu 324} 2020 O W Z0IC
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// =c| HELXF E2 )
#include <stdio.h>

int main(void)

{
int x=10, y=20;
int rl, r2, r3, r4;

rl = (x == 10 && y == 20);
r2 = (x == 10 && y == 30);
r3 = (x>=10 || y >= 30); @

r4 = I(x == b);

printf("ri=%d \n", rl); ri=1
printf("r2=%d \n", r2); r2=0
printf("r3=%d \n", r3); r3=1
printf("r4=%d \n", r4); r4=1
return O;
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&2t || FebArel 4 =2

<Lt
&&7t || HLtAE L= 24 =217F =L

x<0 || x>10
x5 || x<10 && x>0 // x>5 || (x<10 && x>0) 2t S

(x>5 || x<10) && x>0
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3 4000 2 LI5S0 HO{X|= 9= &4H0|LC}

// &8 T2 )
#include <stdio.h>

int main(void)

{

int year, result;

printf("H S LSHGHAI2:");
scanf("%d", &year);

result = (year%4 == 0 && year7%100 != 0) || year7%400 == O;
printf("result=%d \n", result);
return O;
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expl ? exp2: exp3

&

exp 10l THROIH

gxplol ROl
\% N

exp ? exp2

exp3

(552)25:2
(12>11)21:0
(x == 0) ? 100: 200

// 5t 28Ct A2

5

// 127111280 3821
// xJt 01 22H 100 &€ X 22 200
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#include <stdio.h>
int main(void)
{

int x.y:

printf ("X 1R ===");
scanf("%d", &x)
printf("= M ===");
scanf("%d", &y)

printf("2=="%d \n", (x>y)? x i y).
printf("A2==%d \n", (x <y) ? x 1 y);
}

HE R £=2

—

=L} (IR

24=3

KO A=
=T -
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x=1, y=2; x=1; y=2;2 =S¢
x=(2+5,5-3); x=2Jt & Ct

x = 2+3, 5-3; x=5J} = Ct

X++, y++; x2ty=13Jt=Ch
printf(" Thank"), printf(" you!\n"); Thank you!




sizeof AR E BA2=Lt O
Ol B2 2] 271 HEOJ
E SR 2 BEHELIC

size_t n = sizeof(int);
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#include <stdio.h>

int main(void)

{
int i;
double f;
size_tn;

n = sizeof(int);
printf("int& 2l 371=%u \n", n);

n = sizeof(i);
printf("21==i2 2J(=%u \n", n);

n = sizeof f;
printf("21== f2 2I[=%u \n", n);
}

int=2 2 3J(|=4
H4 02 3)(=4
K4 O 90|=8
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#include <stdio.h>

int main(void)

{
intx=2,y=3,z=4;

printf("%d \n", 2 + 3 >= 3 + 12);
printf("%d \n",2>3 || 6 >7);
printf("%d \n", 2 || 3 && 3 > 2);
printf("%d \n", - ++x +y--);
printf("%d \n",x=y=2z=6);

printf("%d \n", (x =2 + 3, 2 - 3));

printf("%d \n", x /=x=x*y);
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